( PH3IE SER ] i :
L )

RANAANFA (1) ]

<KRAUE> KofEsrkos
ORNEERDBLEF LIFHEL T AEBHAILTHLRANTS

<P>x=-3.y=2 D¥rE (-25x2y —20xy+10x) + (-5x) D{EZzKHS
(-25x2y —20xy+ 10x) + (-5x) =b5xy+4y-2
=5X(-3) X2 + 4%X2 -2
=-24
<BI> x+y=5.xy=-2 DY E x2+y2DEEKDHS
x2 + y2 = x2 + y2 +2xy -2xy < (x +vy)2 ¥QBEITEL
=(x2 +2xy + y2?) -2xy
=(x + y)2 -2xy < (x + y)20EED
=52 - 2X5x(-2)

=45
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[1] ROKXDEEZKDAEI,

(1) x=-2.y=4 O¥r % (20xy + |15x2) +5x D& ( )
(2)x=-3.y==-2 O =, (-24x%2y +|2xy-6x)+ (-6x) D& ( )
(3) x+y=4.xy=-3 DL E x2+y2DE ( )
(4) (x + y)2 -2xy ( )
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